SOLUTIONS OF LANGUAGE BANK
3.1
A)
1 used to
2 to get used to
3 ‘d/used to
4 ‘Il get used to
5 ‘m not used to
6 ‘d/used to
7" m not used to
8 ‘m used to/ve got used to
B)
1 used to live; ‘m not used to having
2 ‘s used to staying; used to do
3 didn’t used to have; ‘s getting used to having
4 ‘m not used to taking; used to drive

5 ‘m not used to having; ‘Il get used to having

3.2

A)

1 sill you come
2 I’m likely to

3 is the bus planning to leave



4 might leave

5 will rain

6 hoping to

7 it’s being

12 I’'m seeing

B)

1 might stay; ‘Il watch

2 Is Sandra going to be; Will Sandra be; ‘Il definitely go
3 goes

4 ‘s; is thinking of moving; ‘Il be
5 is; probably won’t finish

6 might see; leaves

3.3

1 The way it works is that
2 The first thing they do is
3 The object is

4 Basically; the point is

5 What happens is that

6 The key thing is to



